SECOND TERM GLOBAL TEST

3 ESO

Exercise 1: (1 pto) In a AP we know that @, =10 and a;;, =130. Find the general term and the sum of the
first 200 terms

Exercise 2: (1 pto) In an GP we know that » =2 and g, = 3584 . Find the general term and the sum of the
first 75 terms

Exercise 3: (2.5 ptos) Solve the following systems of equations using the indicated method:

dx+ly=23 Substituti 0.75
ubstitution .
dx—yv=16 ( )
Tx-5y=11]
+ Elimination (0.75)

dx—y=7
2x-35y=1|

c) 7 + You can do whatever you want (1)
X—y=

Exercise 4: (1.5 ptos) Divide the following polynomials and indicate the quotient and the remainder:

a) (3x* +% —5x—7):(x+1) = (0.5)
b) (x'* +6x° —33{—4} : (xl —2} = (1)

Exercise 5: (3 ptos) Work out:
| x-1 x+3

x-3 2x-6
b) (3x—2)(3x+2)—(x+9)" =25

¢) x*—26x" +25=0

Exercise 6: (1 pto) The Cofradia del Santo Grial is having a very good period and, for fifteen years, they've
been adding 50 nazarenos to their number every year. If they had 300 nazarenos 15 years ago, how many
are they now? How many nazarenos will they have 20 years from now?
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